UNIKB5000 Pressure

Connector endings

,<7A




Pressure connectors are not normally a big issue for customers; It is normally just a matter of the cus-

tomer being able to source the mating connector easily hence the regional nature.
e Euro centric Customers normally use G1/4 female

e US centric customers normally use % NPT

e The automotive industry like 7/16 UNF

Chinese and Eastern Europe like Metric threads M20 and M12

At high pressures (over 70 bar) we would recommend (and most customers prefer) larger stronger
threads the G1/4 and 1/4 NPT are offered for these reasons.
Other Specialist applications require specialist connectors; we have included many of the common ones

as standard.

In this document we have the drawings and dimensions of the pressure connector endings. For any oth-

er requirement please consult the application engineering team who can advise on whether your re-

quest is available or can be made available.

The pressure connectors are listed below.

PA - G1/4 Female

PB - G1/4 Male

PC- G1/4 Male 60° Int Cone

PD- G1/8 Male 60° Int Cone

PE- % NPT Female

PF- % NPT Male

PG-1/8 NPT Male

PH—M20 x 1.5 Male

PK— M12 x 1 Male Int Cone
PL—7/16-20 UNJF Male 740 Int Cone
PN—GI1/2 Male Via Adapter

PQ— Gl1/4 Quick Connect
PR—1/2NPT Male Via Adapter
PS—GI1/4 swagelok Bulkhead

PT— G1/4 Male Flat Long

PU- 7/16-20 UNF Male Long 37° Flare Tip
PV—7/16-20 UNF Female

PW—Depth Cone

PX — 7/16-20 UNF Male Flat Short
PY—3/8-24 UJNF Male

PZ—MI10 x 1800 Int Cone
RA—VCR Female

RB—GI1/4 Male Flat with Snubber

RC—GI1/4 Male Flat with Cross Bore Pro-

tection

RD—MI2 x 1.0 740 External Cone
RE—Quick release Male
RF—VCR Male

RJ—M20 x 1.5 (8mm Bore)
RQ—NWI6 Flange

RT—1/8 NPT Female

RU—R38 Male (PT/8)

RV—R1/4 Male (ptl/4)
RW—G1/4 Male with Nipple

PJ- M20 x 1.5 Male 60° Int Cone
G1/4 Male to Female

Gl1/4 Male to Male



PA - G1/4 Female

0.1 UAX

227-240

Gl/4 Female_A-A3-1790$02C

PB - G1/4 Male

-

ia‘——‘%——- }—+—

@48 /

|
[
|

X )’ l 05 v

.|"AF—_~

227-229 Gl1/4 Male A-A3-1769$05B

PC- G1/4 Male 60° Int Cone

' DA )
o~ AIF HE £ [T
o ol ud AN I I

4.4

A XA
- . -~
ol

\_,

297-232 G1/4 Male 60° Int Cone A-A3-1771$04B

3



PD- G1/8 Male 60° Int Cone

»,[ ,-" i
297-23] G1/8 Male 60° Int Cone A-A3-1770$03C
PE- ¥ NPT Female
ol s
5
o RO 4 mAX
N Pl
CTES

7 2

1.0 ® ' \hgooo
-

25.05

Yo" NPT THREAD
TO G-A3-1053

l:g‘_.
2210
¢ 22.0¢
 ¢25-00

OS50

227-241 % NPT Female A-A3-1791$02D
PF- ¥ NPT Male

7 X &S— > - -
. D ¥l Y e
I |
Jf» ETAIL L l
"'ﬁf :
227-233 % NPT Male A-A3-1772$05B

4



PG- 1/8 NPT Male

227-253 1/8 NPT Male A-A3-1850$01C

PH—M20 x 1.5 Male

:
i i N i
i e
t A 1]
C‘J ) : | DR 2 e o s . i l
21.8 v . |}
A/F HEX ! : L M | | :
- P, \
EEED j’
i- :4... I
.\

227-904-1 M20x1.5 Male A-A3-5703$0IE

PK— MI12 x 1 Male Int Cone

21.9
2 MET 58 ——
e 4 4 % AT i
="/ \ ‘
+ [ } | 7 : - :
L1 7 I o
1 L7}
~ N | L
1 o 1 LY A i
I'd 4
\ "
TAl ‘m—
- ¥ ECTI

226-365-01 M12x1 Male Int Cone A-A3-7974%$01B

5



PL—7/16-20 UNJF Male 74° Int Cone

RO MAX
/'/'

* * 15 RO

AN R i

| T ' < |
n 8 ;S{ /

b B ) i === /] kval

ZT  » T & /N > ﬁ_\ﬂ} )

0 = / 3 ov o]
:O, = 0|2, >< i - 0:*!\ b 00
N oo ~R = S = I b P AN v
2t W) N NLS S 1 ° Nel N
Hg ?&/‘ B A ’ S e
v

227-209-05 7/16-20 UNJF Male 74° Int Cone A-A3-1675$05C

PN—GI/2 Male Via Adapter

T 20— 1 |
i si = i
| ] 1\: v -i*“ \it : t
190-039 Adapter Core G1/4to Gl/2a  A-A4-1950$01C
204-068 Seal Bonded Gl1/4

6



PQ— Gl/4 Quick Connect

= —

EE TA f - T
T

226-361-01 G1/4 Quick Connect  A-A4-9058

PR—1/2NPT Male Via Adapter

- 0 -
i S— b
I ~
H M

e " i ’
246 !
‘ |

i [ e s

Caat f A !
s = R
— ;:- - — -—
21, Bl I THREAL
AME HEX - -

227-240 Conn G1/4 Female D25 316 Push D A-A3-1790$02C
1.65

.55

A
.--1--. i
-~ i h "

. | A
. 60"
\. 1 | [ / ; l '
N 1 —d { Al A N S A A |

1
. cires Aot L 1L 0 ogise 102 w7 14 THeEA
o ANUFACTURED T0
G-ad- 1139

;o |
/ _ e
y SEE DETAIL A—

/ - -
X~ e

—.ij_ — ENSURE WO RAD|US—
B -

190-233-01 Adapter Core G1/4to 1/2NPTM  A-A4-5511$01F

204-068 Seal Bonded Gl1/4

7



PS—GI1/4 Swagelok Bulkhead

~24.6 -
\b?d_d
L 13.00 _
12.85 .
X
l | e
S N ; : | |
A\ 2% o
T | spefe
- iy i 55 2 15.5 21.9
\——/ i i é ! =y Nut-Thin 7/16-20
l ! £\
J N ])

227-569-02 Conn 7/16 UNF Bulkhead % Swagelok ~ A-A3-3811$01A

092-003 Nut- Thin 7/16-20 UNF-2b
PT— G1/4 Male Flat Long
I  —ow
7 LD 177" oy —
W | am’ |
. I P 4 EE DETAIL &
226-101-01 G1/4 Male FlatLong  A-A3-7213$01C
PU- 7/16-20 UNF Male Long 37° Flare Tip

! MAIMTAIN
4'5/5HARP EDGE

ol

i,/ RO 4 MAX

IS
490 4, %/——‘
7

5-28
39 *
g % :
]
A = Z R
8 o’\dm'g(:'/\ ; - : a8l &%
D) ALY w7 ,4//% r R &
= |
f! 17aN l
29 /| | N 06O
T - RO
/ _Jdl.=28 e

MIN UNDERCUT TO —/
ENSURE NO RAD.

7/16-20 UNF Male Long 37° Flare Tip  A-A3-1878%1

8



PV—7/16-20 UNF Female

f—HEX &!

==Y =]
x=

. -

227-251-03 7/16-20 UNF Female  A-A3-1847$03E

PW—Depth Cone

— - _.
- i é
i 110 E
TN J e
() P I~
Ny : 1; ; - J f . |
| |
i catle N bl TNy

227-240 Conn G1/4 Female D25 316 Push D A-A3-1790$02C

SECTION X-X
RS.S

Ho45 X 0.86

gJ B oy T
e MRS o g\@ |
= [

CAVITY ID ON -SEE DETAIL A

THIS FACE

RO.5 MAX
3

@IS $0 S i o
DETAIL A & POSITIONS
E0U1 -SPACED

U/CUT TO THR'D ROOT RADIALLY
SCE DETAIL B
‘ DETAIL B

il

222-112-01 Depth Cone D17.5 G1/4  H-A3-1270$01A

9



PX—7/16-20 UNF Male Flat Short

“; R 7 1
' ! | g
171 | L
! | | s —————— i
o i o & T
. + ; /
\"x‘ i 1E
1 | IR % i !
: -t 1
i : i)
L gl - ! i
ar

——f 2 ASF—=

226-373-01 7/16-20 UNF Male Flat Short ~ A-A3-7994$01A

PY—3/8-24 UJNF Male

2G5

11-5

1-0 x 45%w 4.5 MAINTAIN SHARP EDGE
]
/ED cd MABK
% | gra z
~ | L E

|

Ll
B |

|/
\r‘t\
Ny
N

Q I

o OF o T r 03| 83
o x| o]l tI——— I T R
| 04 Y777 ¥ e e
o\ = 7 i -

\

© / / 1
// /
/ \_
:9“{'3'5 see DETAIL A~ 2 4o

2.5 50

227-315 M10 x 1 80° Int Cone A-A3-1989%2

10



RA—VCR Female

227-270

192-063
VCR MATEABLE CONN VCR/VACUSEAL
/'y FEMALE NUT 192-064-03 ADAPTR D25
; VCR MATEAELE P
. : ) WELD GLAND {
DTV, |
______ 1 . = t |
. 4 9
#
} t
gl [ 7 g ook
Vs 1 b 7 A |
B AT i A i
\

DA6831-1-01VCR Female A-A3-68313$01A

Body Material
Cleaning Process

316 Stainless Steel

Standard Cleaning and Packaging (SC-10)

S Connection 1 Size U4 in
\v Connection 1 Type Female VCR® Metal Gasket Face Seal Split-Nut
i eClass (4.1) 37020718
' eClass (6.0) 23-11-07-00
UNSPSC (11.0501) 31161700
. UNSPSC (4.03) 31161700
y UNSPSC (SWG01) 31161700
-
192-063 VCR Mateable Female Nut
e $:55l
0.9
N
e
L

'/‘-‘450 X

L '

0.1
0.5

— SHARP EDGE

192-064-01 VCR Mateable Weld Gland A-A4-1504$03A
..___2_!5_ _——
le} 45 MAINTAIN
SHARF EDGE
= r RO-4 maxX
G—&H“'&__:__._ /
RO BAAN —— E ; E\./‘/ e [
Qi u—xhﬁd < ogl €8
0d Eg gy e g el 09
B__ e i 1 B B
SHARP EDGE / __é"f"""\"_':
REGUIRED R2:0 ! \-.RD-GD
— |22 oee
227-270  Conn VCR Vacuseal Adapter D25  A-A3-1886$2

11



RB—GI/4 Male Flat with Snubber

. 226-366-01
ADHESIVE (3 (/) CONN G1/4B MALE
LOCTITE €48 " D25 316 PUSH

DA0381-1
RESTRICTOR | 2 )
ASSEMBLY '-

DA6826-1-01 G1/4 Male Flat with Snubber  A-A3-6826$01A
®P% b
24.4 i?

226-366-01 Conn Gl/4b Male D25 316 Push A-A3-7980%$01A
3.4

207-027-02 - Fs-_c'r
w i

NicwelL BRAZING
Aoy GERADE HTN2
To BS IEAS,

207-028

20 (®er) STAIRLESS STEEL GEADE 304
TUBE . 110 GUTSIDE DIAMETER
.TE*';‘Tﬁﬁ‘;"Z%?. 1S5 | C GEBE INSIDE DIAMETER .
(2 PLACES) | ( Gavae ~No. 19)
| Z '
| fe— o 182
" 22 & ® 18
w n ® el
T;_ | S— e
% 207-027-02 207-028
—————= RESTRICTOR BODY RESTRICTOR TUBE
DA0318-1 Restrictor Assembly  A-A4-0318$01B

12



RC—GIl/4 Male Flat with Cross Bore Protection

N N

!

: ,/I Nl

/ /
| / / // /// /!_,f; /) / /j
Ll fl/:xf. /':/; 1‘)

F—jk

DA6967-1-01 G1/4 Male Flat With Cross Bore Protection A-A4-6967

71
- - - 1
i S
i HOLE 1 | MAX
o
! 2 ;
. AL 7 g
92 P v i
¢k R, 4 MAX
32460 1 i (m—
{40 . S| | L O .
@il 85 A . ; gy @iy @sl
Baviay o i A 2 06 @25 00
|
! : "
Ra
! N !
' e ra b !
| MAX
i -
MIN THREAD
SRR 1% | J— i
21,80
AJF HEX

227-240 Conn G1/4 Female D25 316 Push A-A3-1709%$02C

l 7 1
21.63 | I 1 ' T _‘_é',_'______— €3 4 ;
D155 T—\—i—Ht—TF | LAz 1

190-669-01 Adapter Core G1/4 Male to G1/4 Male ~ A-A4-9055$01A
13



RD—MI12 x 1.0 74° External Cone

F >
4 N 1 A
i T3 \
& H o | B — ¥,
' z /
o ) N— —
1 i
LY "
i 7 J i
1 — 3 © B RO, 4 MAX
£ DE -

\--Rt: I MAX

f—re

|

227-508-01 M12 X 1.0 74° External Cone A-A3-3617$01B

RE—Quick release Male

226-654-01 Quick Release Male A-A3-9063%$01A

RJ—M20 x 1.5 (8mm Bore)

chas 10 B35 o¢

CHAM 45° TQ —=t | L_
THREAD ROOT - a5
[

/ \_ 0.
t Ro.
M20 1 1.5 -Bg

(R G E T & ) — | A———— l_'_'_

L]
5

@185 l—-— 1 O I A pR2.10 425,05

- 22.06 25.00

@ HOLE
SEE TABLE %)\ RO 4 MK

1
- D :'1— J_ L]
|V | s =
| | -RO. 1 MAX
SEE DETAIL A SECTION %X

112M1024-1 M20 X 1.5 (8mm Bore)  112M1024

14




RF—VCR Male

(1) 192156 g
lTErT H:\_.‘jr';lT-L'fEs'l!-T t."iifE;' , N
ITEM 2 AND 3 REING WELDED | A S— f
B | (3) 227210+ o
(7 )192-064-03 | P |
| 2
% |
b 1 [
| — /]
DA0430 VCR Male A-A3-0430%$01C
192-156 VCR Mateable Male Nut 316 SS-4-VCR-4%
e b
. 0.9
A
oI
"""" T4
N yIvIII ;
— SHARP €DGE
REQUIRED
192-064-03 VCR Mateable Weld Gland A-A4-1504$03A
[ 2.1'5."_ —
=] 4-5 MAINTAIN
SHARP EDGE
[-// RO -4 max
D-5x4_5:_
RO-4 MAX—..\\ l rz I
ST 1 7 4 o
ﬂ‘ml g ' ' 8| 29
Lo & S ———. i // T' - L}
SHARP EDGE / '",/\\ f
REQUIRED R2.0 \\_RO-GO
20
4 lL.2zs

227-270VCR Vacuseal Adapter D25  A-A3-1886%2

15



RQ—NW!16 Flange
St
| U
@ 30.05 | ) j 7 r l—Z710.02]
BT TRy, e LA\ 0.02]
X o . N —~ 8 =
K )
N m— 4 e B
!L\\:’ /‘) . ‘ T L | |
| S I 1 : ;
& T ) i .. N : a
|
|
226-674-01 NW16 Flange  A-A3-9148$01

RT—1/8 NPT Female

21.8 A/F HEX

©

SCALE 1:1

.65
.99

CH 45" TO
THREAD ROOT

227-648-01 Conn 1/8NPT Female D25

=13 RO 1 MAX
0.5 SECTION Y-
/ R0 4 MAX
2i.10
1/8-27 NPT D37 06
0.6 5
\// /'RUIS 1
’
/]

I
]

A-A4-5071$01B

227-387-01 R38 Male (PT3/8)

16

n%mﬁsan_/ s

A-A3-3271$01



RV—R1/4 Male (pt1/4)

e % U5 | —
|

0o
B 28| ©¢
mn o )
B N oD
| s ®

/// P !

Rl THREAD
TO 8582l * | \\_no-ao
o230

RO }__ z25

227-388-01 R1/4 Male (PT1/4)  A-A3-3272$01

RW—G1/4 Male with Nipple

2.8
2.8

L a—

226-707-01 G1/4 Male With Nipple ~ A-A3-9257$01

PJ- M20 x 1.5 Male 60° Int Cone

227-234-03 M20x1.5 Male 60° Int Cone A-A3-1773%$03C

1/



Screw in Snubbers

G1/4 Male to Female

> /
FLUSH £0.5 SECTION  X-X
G1/4 Male to Male

< /

A
g
#

ST RN
N N NN N NN NN N NS :
™~ N D o ~ \I\ NN , Y
NN N \H—"—* e S, — A — l_= . =

SOONAL Y

[

— =

S N N N N N NN N NN et
0 N NN N\ " O\
e ™, ™ ™ 5
7N \ N NP
i N\ h NN [~ A LUSH
e N\ . YA

DA4210-1-02

18



Baker Hughes



